Lab 3 — Exercise 2
An Activity according to Temperature

GIVENS : (none)

RESULT : (none)

INTERMEDIATES: temperature (the current temperature)
numberActivity (the number of the activity)

HEADER : main()

BODY :

print(‘What is the temperature: )
temperature & readReal()
numberActivity & selectActiv ity(temperature)

numberActivity=1 ?

printLine (“The recommended activity is swimming)




GIVENS : temp (the temperature)
RESULT:  numAct (the number of the activity)
HEADER : numAct < selectActivity(temp)

BODY :
Version 1 — Sequence of Branches

temp >80.0

numAct < 1

temp >60.0 AND temp < 80.0
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temp >40.0 AND temp < 60.0

numAct € 3

numAct € 4

Version 2 — Nested Branches
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